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QUESTION 1

An administrator is planning to deploy a Nutanix cluster to support a few high-performance VMs. This deployment will
have the followingconsiderations: 

Individual VMs will likely generate network throughputs in the range of 90-100Mbps Due to the configuration of the VMs,
it is unlikely that a node will host more than one or two of them at a time Individual VMs will communicatewith only a few
(one or two) remote hosts at a time Multicast will not be used in the environment The hosts are connected via two 1GbE
network connections 

How should the administrator configure the network bonds to meet this requirement while maintaining the simplest
switch configuration? 

A. Configure bond0 as balance-sib 

B. Configure bond0 as active-backup 

C. Configure bond0 as balance-tcp 

D. Configure bond0 as balance-lacp 

Correct Answer: A 

Ref:https://portal.nutanix.com/page/documents/solutions/details?targetId=BP-2071-AHV-
Networking:top_ahv_networking_best_practices.html 

 

QUESTION 2

An administrator needs to replace the self-signed certificate on a cluster. Which two requirements must be met as part
of the process? (Choose two.) 

A. The cluster administrator must restart the interface gateway. 

B. The signed, intermediate and root certificates are chained. 

C. The existing certificate must be deleted prior to replacement. 

D. The imported files for the customcertificate must be PEM encoded. 

Correct Answer: BD 

Explanation: Ref:https://portal.nutanix.com/page/documents/details?targetId=Prism- Central-Guide-Prism-v55:mul-
security-ssl-certificate-pc-t.html 

 

QUESTION 3

A consultant configures an ESXi cluster which will utilize a vSphere Distributed Switch (vDS). The consultant has just
migrated the first host to the dvSwitch when several alerts appear within Prism Element regarding Host-to-CVM
connectivity. What is causing these alerts? 

A. The consultant migrated the CVM Backplane and VM network adapter over to the vDS. 
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B. The consultant migrated the CVM svm-iscsi-pg network adapter over to the vDS. 

C. The consultant migrated the CVM Backplane network adapter over to the vDS. 

D. VLAN tags are incorrectly configured on the vDS port groups. 

Correct Answer: C 

 

QUESTION 4

An administrator needs to forecast infrastructure requirements for a new program and its associated applications. Prior
to the projected start of the new program, all existing applications will be decommissioned. 

How should the administrator perform this task? 

A. Check the Disregard Existing Workloads radio button in the Runway scenario. 

B. Check the Disregard Existing Nodes radio button in the Runway scenario. 

C. Add up the recovered workloads and manually remove from the Runway configuration. 

D. Power down the workloads during a maintenance window and run the Capacity Runway. 

Correct Answer: A 

 

QUESTION 5

A customer needs a DR solution designed around the following requirements: 

There are 8 ms of latency between Sites A and B The administrator needs the shortest RPO/RTO possible Application
consistent snapshots are required Use of NutanixVSS 

Which Data Protection Method should be used? 

A. Async 

B. Metro Availability 

C. Near Sync 

D. Cloud Connect 

Correct Answer: C 

Ref:https://portal.nutanix.com/page/documents/details?targetId=Prism-Element-Data- Protection-Guide-v5_18:wc-dr-
application-consistent-snapshots-wc-r.html 
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